
CLASS 9 SST 

HISTORY (How a subsistence crisis happens ) 

1.How does a subsistence crisis happens? 

2.what was the name of Tax which was directly paid to the state by the 3rd estate? 

3.The third estate comprised  

a.poor servants and small peasants, landless laborers  

b.peasants and artisans  

c.Big businessmen ,merchants, lawyers  

d.all of the above  

4.That “each member should have one vote" was advocated by  

a.Georges Danton  

b.Rousseau 

c.Jean Paul Marat 

d.The jacobins  

CIVICS (Why define democracy) 

1.How far is it correct that no country has a perfect democracy? 

2.What are the drawbacks of a democracy? 

 


